Ratiq

<op/p. > (%)

<3 @> (rad)
o
=
[¢)]

o
[N

o
N

........

.......

.........................

|
w

1 3
TP n (PCA to beamline)

< d cot(B) >
o
=
4]

x107°

...............................

QO[T T

0 1 2 3
TP n (PCA to beamline)

—=— DQM_TT__mKFt_ORIG
—e— DQM_TT__mkFit_MODIF
—— /data2/legianni/newRel-PR129/sta/CMSSW_13_2_0_pre3/src/DQM_TT__MODIFok

(¢S LR RARAN AR R

_2 =

-1

0 1 2 3
TP n (PCA to beamline)

RN

0 1 2 3
TP n (PCA to beamline)

—

Ratiq

100,

- r
I i ¥
! r
1 " "
Fa o WL M RIAANAEARAR AR EARANIIAA LA
4 "
h

Hi KN AR |

0 1 2 3
TP n (PCA to beamline)



	Contents
	Page 1


